Name: Class: Date: polnts

Test N Unit 6: Multiplication Tables of 2 and 3

B Chapter 2: Multiplication Table of 3

Circle the correct option, A, B, C or D.

There are kittens altogether.
A 10 C 12
B 11 D 15

2. 3+ 3+ 3isthe same as

A 2 groups of 3 C 3 groupsof3
B 3times?2 D 3x3x3

181
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3.

The table shows numbers from the multiplication table of 3.

3 6 12 18 21 27 30

What are the missing numbers?
A 9,14 24 C 9,15 24
B 81524 D 915125

There are 9 lily pads in a pond.
3 frogs are resting on each lily pad.

How many frogs are there altogether?
A 18 C 33
B 27 D 36

Mr. Vasquez bought 2 apples and 2 pears for $3.
If he bought 4 apples and 4 pears, how much should he pay!?

A $6 C $12
B $9 D $24
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